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(2nd Semester )
Time : 3 hours
Full Marks : 80
Answer from both the Sections as per direction
The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

(INTRODUCTORY MACROECONOMICS)

SECTION —A
1. Answer the following : 2x8
(a) What is meant by ‘stock’ in macro-
economics ?

(a;--mi,m?'
(e) Wﬁ'a;inf(‘_iﬁmhbwmﬁng‘?

( Turm Over )
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Total Pages—3 AGECO (02)

2018
(2nd Semester )
Time : 3 hours
Full Marks : 80
Answer from both the Sections as per directed
 The figures in the right-hand margin indicate

Candidates are required to answer in their own words
as far as practicable

(INDIAN ECONOMY)
SECTION —A

marks

1. Answerall the questions 2x8
(@) Whatis 7amindari System ?

(b) What is meant by cciling on land holdings ?

What is industrial sickness ?

is regi;mal imbalance in

(©)

(d) What
growth ?

industrial

{Tlmlt}h‘dr‘j
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FBA-1IS ECO (CORE-3)

2017

INTRODUCTORY MACROECONOMICS

Time : 3 Hours] [Full Marks : 80

Answer from both the Sections as directed. The figures
in the right-hand margin indicate marks.

SECTION-A

1. Answer all questions: 2x8

(@) What is meant by the ‘concept of flow’?
(b) What is Macrodynamic?

(¢) What is GNP at factor cost?

() 'What is Weighted Index Number of Prices?
(e) Define ‘fiat money’.

(f) What is cost-push inflation?

(g) Whatis M. E. C?

(h) What are the main components of Aggregate
Demand in an economy ?

BAM 2(3) {Turn Over)
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FBA-IIS ECO (CORE-4)

2017

MATHEMATICAL METHODS FOR
ECONOMICS-II

Time : 3 Hours] [FuH. Marks : 80

Answer all guestions. The figures m the right-hand
margin indicate marks.

SECTION-A
1. Answer the following questions: 2x8

(a) Write the following equations in matrix
form :
2x -4y +3z=
dx -6y +52=12
~2x+y-z=1

(b) Find the cofactor of the matrix

2
T
(¢) Given the function y = f(x). What are the

conditions of minimum ?

(d) If MR function is MR = a — 2bg, find the
slope of MR curve.

BAM 36 (4) {Turn Over)
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(4)

(b) What is Optimisation ? How the Lagrangian
multiplier method 1s used for optimisation in
constrained conditions ?

BAM_36 (4) 2,120



